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X4 -3+ 3(2)(2 + 7x)

7%+ 8% + 3% — 4(6x3 - 6x2)

32 + &) — 7 + 4x? — 8

26 + 6x° —x° — 3x— 8x

6x — 8> + 2(9)63 — 6x3) + 7

Jun: ATLLUU:

X4 5 = 5¢° + 27 + 2x

4x3 + 3x2 + 6x2 — x3 + 5x2

3x— X%+ 40 + 4(6x° + 2x°)

Ox — x° — 6x° — 6x + 4x

4(8x° — 8x%) — 9x + 6x — 6x°
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X =4 =30+ 3(2x2 + 7x)
—6x° + 6x° + 21x

7+ 8¢ + 3% — 4(6x° — 6x?)
21 + 39x°

320 + 8x%) — 7o + 4x® — 8
23 + 47 — 8x

203 4+ 60 — x> — 3x— 8
7 — 11x

6x— 8¢ + 2(9)63 — 6x3) + 7

5% + 6x

Jun: ATLLUU:

X457 =5+ 2% + 2x
X+ 2¢ +2x

A + 35 + 66 — x° + 5x2
36 + 1452

3x — X2 + 4 + 4(6x° + 2x%)
36x° — ¥ + 3x

O — x* — 60 — 6x + dx
—6° — ¥ + Tx

4(8x° — &%) — 9x + 6x — 6x°
26x° — 32 — 3x
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